

#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
1112001	Antihaemophilic factor VIII dried fraction with VWF 500	VIA	37500

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00056	Tabasheer Meical Co.Ltd.	37500	55.55	2,083,125.00	Octapharma1	Austria		Octanate 500 IU
2		Elhussien Commercial AG. for Chemicals	9375	69.30	649,687.50	BPL	United Kingdom		see the attached cov letter fo
3	OS00107	Rotex for drugs services Co Ltd	37500	80.03	3,001,050.00	kedrion S.P.A	Italy		product under registration
4	OS00056	Tabasheer Meical Co.Ltd.	37500	111.10	4,166,250.00	Octapharma	Austria		Wilate 500IU
5		Dew international company for investment	18750	160.20	3,003,750.00	CSL Behring GmbH	Germany		

Run Date - Time : 04/09/2019 - 12:14:30 Page 1 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
1112002	Antihaemophilic factor VIII dried fraction with VWF 250	VIA	15000

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00056	Tabasheer Meical Co.Ltd.	15000	27.78	416,625.00	Octapharma	Austria		Octanate 250 IU
2		Elhussien Commercial AG. for Chemicals	3750	35.75	134,062.50	BPL	United Kingdom		see the attached cov letter fo
3		Dew international company for investment	7500	80.10	600,750.00	CSL Behring GmbH	Germany		

Run Date - Time : 04/09/2019 - 12:14:30 Page 2 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.	
1112003	Antihaemophilic factor IX dried fraction 500 IU vial	VIA	20000	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00056	Tabasheer Meical Co.Ltd.	20000	77.80	1,556,000.00	Octapharma	Austria		OCTANIN 500 iu
2		Elhussien Commercial AG. for Chemicals	5000	85.00	425,000.00	BPL	United Kingdom		see the attached cov letter fo
3	OS00107	Rotex for drugs services Co Ltd	20000	89.88	1,797,500.00	kedrion S.P.A	Italy		product under registration
4		Dew international company for investment	3000	175.50	526,500.00	CSL Behring GmbH	Germany		
5	OS00329	Vital Pharma Co., LTD	20000	225.00	4,500,000.00	SOBI	Sweden		

Run Date - Time : 04/09/2019 - 12:14:30 Page 3 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code Item Description		UOM	Required Qty.	
1112007	Fibrinogen 1g inj.	VIA	250	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00056	Tabasheer Meical Co.Ltd.	250	322.22	80,555.00	Octapharma	Sweden		Fibryga 1 gm
2		Dew international company for investment	250	429.10	107,275.00	CSL Behring GmbH	Germany		

Run Date - Time : 04/09/2019 - 12:14:30 Page 4 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.	
1112008	Factor X Concentrate 250 IU	VIA	750	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00056	Tabasheer Meical Co.Ltd.	750	166.65	124,987.50	Octapharma	Austria		Octaplex 500 IU
2		Elhussien Commercial AG. for Chemicals	180	1,125.00	202,500.00	BPL	United Kingdom		Under registration, pls see th

Run Date - Time : 04/09/2019 - 12:14:30 Page 5 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
1112010	Antihaemophilic factor VIII dried fraction without VWF	VIA	25000

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Dew international company for investment	25000	52.50	1,312,500.00	CSL Behring GmbH	Germany		
2	OS00056	Tabasheer Meical Co.Ltd.	25000	55.55	1,388,750.00	Octapharma	Austria		Octanate 500IU
3	OS00329	Vital Pharma Co., LTD	25000	100.00	2,500,000.00	SOBI	Sweden		

Run Date - Time : 04/09/2019 - 12:14:30 Page 6 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.		
1112011	Antihaemophilic factor VIII dried fraction without VWF	VIA	15000		

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Dew international company for investment	15000	26.25	393,750.00	CSL Behring GmbH	Germany		
2	OS00056	Tabasheer Meical Co.Ltd.	15000	27.78	416,625.00	Octapharma	Austria		Octanate 250 IU
3	OS00329	Vital Pharma Co., LTD	15000	180.00	2,700,000.00	SOBI	Sweden		

Run Date - Time : 04/09/2019 - 12:14:30 Page 7 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.	
1191003	Monoclonal Anti-A sera test/10ml	VIA	52500	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Elhussien Commercial AG. for Chemicals	13125	1.16	15,225.00	Arkray	India		See the attached cov letter fo
2		Simat for Medical laboratory equipment	52500	1.30	68,250.00	EGYCHEM FOR LAB	Egypt	60	
3	OS00329	Vital Pharma Co., LTD	52500	1.50	78,750.00	AMS	United Kingdom		
4	OS00037	MARINA PHARMACEUTICALS	52500	1.50	78,750.00	FORTRESS DIAGNOS	United Kingdom		10 VIALS/BOX
5	OS00041	terma medical suplies	52500	1.80	94,290.00	Diagast	France	30	
6	OS00280	RASD Pharma for Multi Activities	52500	1.82	95,550.00	Dialab	Switzerlan d	60	
7		Ayatco Medical supply and services	52500	12.40	651,000.00	Biotech	United Kingdom		ISO13485

Run Date - Time : 04/09/2019 - 12:14:30 Page 8 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.	
1191004	Monoclonal Anti-A1 lectin sera test in 5ml	VIA	2500	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Elhussien Commercial AG. for Chemicals	1250	2.70	3,375.00	Arkray	India		see the attached cov letter fo
2	OS00329	Vital Pharma Co., LTD	2500	4.60	11,500.00	AMS	United Kingdom		
3		MARINA PHARMACEUTICALS	2500	4.80	12,000.00	FORTRESS DIAGNOS	United Kingdom		10 VIALS/BOX
4		RASD Pharma for Multi Activities	2500	5.65	14,125.00	Dialab	Austria	60	
5	OS00041	terma medical suplies	2500	12.15	30,375.00	Diagast	France	30	

Run Date - Time : 04/09/2019 - 12:14:30 Page 9 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
1191006	Monoclonal Anti-B sera test 10ml	VIA	52500

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Elhussien Commercial AG. for Chemicals	13125	1.16	15,225.00	Arkray	India		see the attached cov letter fo
2	l .	Simat for Medical laboratory equipment	52500	1.30	68,250.00	EGYCHEM FOR LAB	Egypt	60	
3	OS00037	MARINA PHARMACEUTICALS	52500	1.50	78,750.00	FORTRESS DIAGNOS	United Kingdom		10 VIALS/BOX
4	OS00329	Vital Pharma Co., LTD	52500	1.50	78,750.00	AMS	United Kingdom		
5	OS00041	terma medical suplies	52500	1.80	94,290.00	Diagast	France	30	
6	OS00280	RASD Pharma for Multi Activities	52500	1.80	94,500.00	Dialab	Austria	60	
7		Ayatco Medical supply and services	52500	12.40	651,000.00	Biotech	United Kingdom		ISO13485

Run Date - Time : 04/09/2019 - 12:14:30 Page 10 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191008	Monoclonal Anti-C big sera test in 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	30.00	1,500.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	33.08	1,653.75	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	60.20	3,010.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 11 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191010	Monoclonal Anti-c small sera test 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00041	terma medical suplies	50	15.19	759.40	Diagast	France	30	
2		MARINA PHARMACEUTICALS	50	29.00	1,450.00	FORTRESS DIAGNOS	United Kingdom		VIAL
3		RASD Pharma for Multi Activities	50	43.20	2,160.00	Dialab	Austria	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 12 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
1191012	Monoclonal Anti D sera type 1gG/1gM Blend (Anti-Rh)	VIA	52500

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Elhussien Commercial AG. for Chemicals	13125	1.75	22,968.75	Arkray	India		see the attached cov letter fo
2		Simat for Medical laboratory equipment	52500	1.80	94,500.00	EGYCHEM FOR LAB	Egypt	60	
3	OS00329	Vital Pharma Co., LTD	52500	2.50	131,250.00	AMS	United Kingdom		
4	OS00037	MARINA PHARMACEUTICALS	52500	2.50	131,250.00	FORTRESS DIAGNOS	United Kingdom		VIAL
5	OS00280	RASD Pharma for Multi Activities	52500	2.52	132,300.00	Day Medical	Switzerlan d	60	
6	OS00041	terma medical suplies	52500	2.97	155,925.00	Diagast	France	30	
7		Ayatco Medical supply and services	52500	21.60	1,134,000.00	Biotech	United Kingdom		ISO13485

Run Date - Time : 04/09/2019 - 12:14:30 Page 13 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.	
1191014	Monoclonal Anti-e small sera test 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	40.00	2,000.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	41.18	2,058.75	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	81.20	4,060.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 14 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	de Item Description		Required Qty.	
1191016	Monoclonal Anti-(C.D.E) Sera 10ml.	VIA	1250	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00041	terma medical suplies	1250	8.10	10,125.00	Diagast	France	30	
2		MARINA PHARMACEUTICALS	1250	46.00	57,500.00	FORTRESS DIAGNOS	United Kingdom		VIAL
3	OS00329	Vital Pharma Co., LTD	1250	50.00	62,500.00	AMS	United Kingdom		
4		RASD Pharma for Multi Activities	1250	85.40	106,750.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 15 of 83





#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
1191019	HIV Elisa test	KIT	18750

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00280	RASD Pharma for Multi Activities	18750	22.50	421,875.00	RecombiLISA	United States	60	
2	OS00061	K-BIOanalytica Co. Ltd	18750	29.90	560,625.00	CTK BIOTECH	United States		These prices offer is for Air
3	OS00037	MARINA PHARMACEUTICALS	18750	34.00	637,500.00	FORTRESS DIAGNOS	United Kingdom		KIT
4	OS00034	EANA Medical Services and Investment Co.	18750	35.00	656,250.00	AB DIAGNOSTIC	Germany		if full qty awarded 2 ful lyau
5	OS00329	Vital Pharma Co., LTD	18750	36.00	675,000.00	AMS	United Kingdom		
6	OS00016	Elhussien Commercial AG. for Chemicals	4687	37.40	175,293.80	Adaltis	Italy		offered price for kit of 96 te
7	OS00270	Ayatco Medical supply and services	18750	40.60	761,250.00	Biotech	United Kingdom		ISO13485
8	OS00306	Simat for Medical laboratory equipment	18750	46.00	862,500.00	ACON BIOTECH HAN	China	60	
9	OS00280	RASD Pharma for Multi Activities	18750	60.70	1,138,125.00	Dialab	Austria	60	
10	OS00280	RASD Pharma for Multi Activities	18750	62.50	1,171,875.00	RecombiLISA-CTK B	United States	60	
11	OS00010	Samasu Medical and educational services	18750	102.10	1,914,375.00	Roche Diagnostic	Germany		CE Mark, FDA
12	OS00010	Samasu Medical and educational services	18750	102.10	1,914,375.00	ROCHE	Germany		CE MARK, FDA (ECLIA TECHNOLOG

Run Date - Time : 04/09/2019 - 12:14:30 Page 16 of 83





#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.	
1191020	HCV Elisa	KIT	18750	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00061	K-BIOanalytica Co. Ltd	18750	16.90	316,875.00	СТК ВІОТЕСН	United States		It will be decreases by 10% on
2	OS00280	RASD Pharma for Multi Activities	18750	20.00	375,000.00	RecombiLISA-CTK B	United States	60	
3	OS00306	Simat for Medical laboratory equipment	18750	27.00	506,250.00	ACON BIOTECH HAN	China	60	
4	OS00034	EANA Medical Services and Investment Co.	18750	35.00	656,250.00	AB DIAGNOSTIC	Germany		if full qty awarded 2 fully au
5	OS00037	MARINA PHARMACEUTICALS	18750	36.00	675,000.00	FORTRESS DIAGNOS	United Kingdom		KIT
6	OS00270	Ayatco Medical supply and services	18750	37.20	697,500.00	Biotech	United Kingdom		ISO13485
7	OS00016	Elhussien Commercial AG. for Chemicals	4687	37.40	175,293.80	Adaltis	Italy		offered price for kit of 96 te
8	OS00329	Vital Pharma Co., LTD	18750	38.00	712,500.00	AMS	United Kingdom		
9	OS00280	RASD Pharma for Multi Activities	18750	48.60	911,250.00	Dialab	Austria	60	
10	OS00010	Samasu Medical and educational services	18750	142.55	2,672,812.50	Roche Diagnostic	Germany		CE Mark
11	OS00010	Samasu Medical and educational services	18750	142.55	2,672,812.50	ROCHE	Germany		CE MARK, (ECLIA TECHNOLOGY NO

Run Date - Time : 04/09/2019 - 12:14:30 Page 17 of 83









## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
1191022	Syphilis Elisa	KIT	18750

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00061	K-BIOanalytica Co. Ltd	18750	14.30	268,125.00	СТК ВІОТЕСН	United States		
2	OS00280	RASD Pharma for Multi Activities	18750	17.50	328,125.00	RecombiLISA-CTK B	United States	60	
3	OS00306	Simat for Medical laboratory equipment	18750	17.50	328,125.00	ACON BIOTECH HAN	China	60	
4	OS00034	EANA Medical Services and Investment Co.	18750	30.00	562,500.00	AB DIAGNOSTIC	Germany		if full qty awarded 2 fully au
5	OS00329	Vital Pharma Co., LTD	18750	30.00	562,500.00	AMS	United Kingdom		
6	OS00280	RASD Pharma for Multi Activities	18750	30.80	577,500.00	Dialab	Austria	60	
7	OS00037	MARINA PHARMACEUTICALS	18750	32.00	600,000.00	FORTRESS DIAGNOS	United Kingdom		KIT
8	OS00270	Ayatco Medical supply and services	18750	35.07	657,562.50	Biotech	United Kingdom		ISO13485
9	OS00016	Elhussien Commercial AG. for Chemicals	4687	37.40	175,293.80	Adaltis	Italy		Offered price for kit of 96 te
10	OS00010	Samasu Medical and educational services	18750	140.26	2,629,875.00	ROCHE	Germany		CE MARK, FDA, REG UNDER PROCES
11	OS00010	Samasu Medical and educational services	18750	140.26	2,629,875.00	Roche Diagnostic	Germany		CE Mark, FDA, Item Registratio

Run Date - Time : 04/09/2019 - 12:14:30 Page 18 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191023	HIV Rapid test	TST	875000

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00389	Value Medical Supplies	875000	0.16	138,250.00	HANGZHOU REALY T	China	30	
2		Simat for Medical laboratory equipment	875000	0.20	170,625.00	Hanghzou Biotest	China		RIGHT SIGN BRAND
3		Simat for Medical laboratory equipment	875000	0.23	199,500.00	ACON BIOTECH HAN	China	60	
4	OS00061	K-BIOanalytica Co. Ltd	875000	0.23	201,250.00	СТК ВІОТЕСН	United States		
5	OS00037	MARINA PHARMACEUTICALS	875000	0.28	245,000.00	HELAGEN	China		
6		RASD Pharma for Multi Activities	875000	0.31	271,250.00	Onsite-CTKBiotec	United States	60	
7		RASD Pharma for Multi Activities	875000	0.31	271,250.00	OnSite	United States	60	
8	OS00034	EANA Medical Services and Investment Co.	875000	0.35	306,250.00	TURKLAB	Turkey		
9	OS00037	MARINA PHARMACEUTICALS	875000	0.42	367,500.00	FORTRESS DIAGNOS	United Kingdom		40/BOX
10	OS00270	Ayatco Medical supply and services	875000	0.47	411,250.00	Chil Itd.	Turkey		CE Certificate
11	OS00056	Tabasheer Meical Co.Ltd.	875000	0.48	423,500.00	HUMASIS1	South Korea		Sea Delivery
12	OS00056	Tabasheer Meical Co.Ltd.	875000	0.56	486,500.00	Humasis	South Korea		Air Delivery
13		RASD Pharma for Multi Activities	875000	0.59	516,250.00	Dialab	Austria	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 19 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

14	OS00016	Elhussien Commercial AG.	4375	24.26	106,137.50	Arkray	India	offered price for kit of 50 te
		for Chemicals						

Run Date - Time : 04/09/2019 - 12:14:30 Page 20 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191024	HCV Rapid test	TST	875000

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00389	Value Medical Supplies	875000	0.14	126,000.00	HANGZHOU REALY T	China	30	
2	OS00306	Simat for Medical laboratory equipment	875000	0.20	170,625.00	Hanghzou Biotest	China		RIGHT SIGN BRAND
3	OS00061	K-BIOanalytica Co. Ltd	875000	0.22	192,500.00	CTK BIOTECH	United States		
4		Simat for Medical laboratory equipment	875000	0.23	197,750.00	ACON BIOTECH HAN	China	60	
5	OS00037	MARINA PHARMACEUTICALS	875000	0.28	245,000.00	HELAGEN	China		
6	OS00280	RASD Pharma for Multi Activities	875000	0.30	262,500.00	Onsite-CTKBiotec	United States	60	
7	OS00034	EANA Medical Services and Investment Co.	875000	0.33	288,750.00	TURKLAB	Turkey		
8	OS00037	MARINA PHARMACEUTICALS	875000	0.42	367,500.00	FORTRESS DIAGNOS	United Kingdom		40/BOX
9		Ayatco Medical supply and services	875000	0.45	393,750.00	Chil ltd.	Turkey		CE Certificate
10	OS00056	Tabasheer Meical Co.Ltd.	875000	0.46	403,375.00	HUMASIS1	South Korea		Sea Delivery
11	OS00056	Tabasheer Meical Co.Ltd.	875000	0.55	483,875.00	Humasis	South Korea		Air Delivery
12	OS00280	RASD Pharma for Multi Activities	875000	0.56	490,000.00	Dialab	Austria	60	
13		Elhussien Commercial AG. for Chemicals	4375	27.76	121,450.00	Arkray	India		offered price for kit of 50 te

Run Date - Time : 04/09/2019 - 12:14:30 Page 21 of 83

# WEDICAL SUPPLIES OF THE PROPERTY OF THE PROPER

## **Federal Ministry of Health**

#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Run Date - Time : 04/09/2019 - 12:14:30 Page 22 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191025	HBS Rapid test	TST	875000

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00389	Value Medical Supplies	875000	0.10	87,500.00	HANGZHOU REALY T	China	30	
2	OS00306	Simat for Medical laboratory equipment	875000	0.13	109,375.00	Hanghzou Biotest	China		RIGHT SIGN BRAND
3	OS00306	Simat for Medical laboratory equipment	875000	0.13	113,750.00	ACON BIOTECH HAN	China	60	
4	OS00061	K-BIOanalytica Co. Ltd	875000	0.14	122,500.00	СТК ВІОТЕСН	United States		
5	OS00037	MARINA PHARMACEUTICALS	875000	0.18	157,500.00	HELAGEN	China		
6	OS00034	EANA Medical Services and Investment Co.	875000	0.24	210,000.00	TURKLAB	Turkey		
7	OS00270	Ayatco Medical supply and services	875000	0.27	236,250.00	Chil Itd.	Turkey		CE Certificate
8	OS00280	RASD Pharma for Multi Activities	875000	0.28	245,000.00	Onsite-CTKBiotec	United States	60	
9	OS00037	MARINA PHARMACEUTICALS	875000	0.28	245,000.00	FORTRESS DIAGNOS	United Kingdom		40/BOX
10	OS00056	Tabasheer Meical Co.Ltd.	875000	0.30	259,875.00	HUMASIS1	South Korea		Sea Delivery
11	OS00056	Tabasheer Meical Co.Ltd.	875000	0.37	322,875.00	Humasis	South Korea		Air Delivery
12	OS00280	RASD Pharma for Multi Activities	875000	0.50	437,500.00	Dialab	Austria	60	
13	OS00016	Elhussien Commercial AG. for Chemicals	8750	4.36	38,150.00	Arkray	India		offered price for kit of 25 te

Run Date - Time : 04/09/2019 - 12:14:30 Page 23 of 83

# WEDICAL SUPPLIES OF THE PROPERTY OF THE PROPER

## **Federal Ministry of Health**

#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Run Date - Time : 04/09/2019 - 12:14:30 Page 24 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

	Item Code	Item Description	UOM	Required Qty.
11	91026	Syphilis Rapid test	TST	875000

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00389	Value Medical Supplies	875000	0.12	100,625.00	HANGZHOU REALY T	China	30	
2	OS00061	K-BIOanalytica Co. Ltd	875000	0.14	122,500.00	СТК ВІОТЕСН	United States		
3		Simat for Medical laboratory equipment	875000	0.16	135,625.00	Hangzou Biotest	China		Right Sighn Brand
4		Simat for Medical laboratory equipment	875000	0.16	140,000.00	ACON BIOTECH HAN	China	60	
5	OS00037	MARINA PHARMACEUTICALS	875000	0.18	157,500.00	HELAGEN	China		DFR PAYMENT
6	OS00037	MARINA PHARMACEUTICALS	875000	0.28	245,000.00	FORTRESS DIAGNOS	United Kingdom		40/BOX
7		RASD Pharma for Multi Activities	875000	0.29	253,750.00	Onsite-CTKBiotec	United States	60	
8	OS00034	EANA Medical Services and Investment Co.	875000	0.33	288,750.00	TURKLAB	Turkey		
9		Ayatco Medical supply and services	875000	0.43	376,250.00	Chil Itd.	Turkey		CE Certificate
10		RASD Pharma for Multi Activities	875000	0.44	385,000.00	Dialab	Austria	60	
11	OS00056	Tabasheer Meical Co.Ltd.	875000	0.45	395,500.00	HUMASIS1	South Korea		Sea Delivery
12	OS00056	Tabasheer Meical Co.Ltd.	875000	0.52	458,500.00	Humasis	South Korea		Air Delivery
13		Elhussien Commercial AG. for Chemicals	2187	2.22	4,855.14	Arkray	India		offered price for kit of 100 t

Run Date - Time : 04/09/2019 - 12:14:30 Page 25 of 83

# WEDICAL SUPPLIES OF THE PROPERTY OF THE PROPER

## **Federal Ministry of Health**

#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Run Date - Time : 04/09/2019 - 12:14:30 Page 26 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191029	Monoclonal Anti E sera test 5ml vial	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00041	terma medical suplies	50	15.19	759.40	Diagast	France	30	
2		MARINA PHARMACEUTICALS	50	18.00	900.00	FORTRESS DIAGNOS	United Kingdom		VIAL
3		RASD Pharma for Multi Activities	50	43.20	2,160.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 27 of 83









## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191037	HBV Elisa	KIT	18750

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00270	Ayatco Medical supply and services	18750	14.03	263,062.50	Biotech	United Kingdom		ISO13485
2	OS00061	K-BIOanalytica Co. Ltd	18750	14.30	268,125.00	CTK BIOTECH	United States		
3	OS00037	MARINA PHARMACEUTICALS	18750	15.00	281,250.00	FORTRESS DIAGNOS	United Kingdom		KIT
4	OS00306	Simat for Medical laboratory equipment	18750	16.00	300,000.00	ACON BIOTECH HAN	China	60	
5	OS00329	Vital Pharma Co., LTD	18750	16.00	300,000.00	AMS	United Kingdom		
6	OS00280	RASD Pharma for Multi Activities	18750	16.25	304,687.50	RecombiLISA-CTK B	United States	60	
7	OS00280	RASD Pharma for Multi Activities	18750	26.00	487,500.00	Dialab	Austria	60	
8	OS00034	EANA Medical Services and Investment Co.	18750	30.00	562,500.00	AB DIAGNOSTIC	Germany		IF FULL QTY AWARDED 2 FULLY AU
9	OS00016	Elhussien Commercial AG. for Chemicals	4687	37.40	175,293.80	Adaltis	Italy		offered price for kit of 96 te
10	OS00010	Samasu Medical and educational services	18750	66.05	1,238,437.50	ROCHE	Germany		CE MARK, FDA (ECLIA TECHNOLOG
11	OS00010	Samasu Medical and educational services	18750	66.05	1,238,437.50	Roche Diagnostic	Germany		CE Mark , FDA

Run Date - Time : 04/09/2019 - 12:14:30 Page 28 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191038	Anti-human globulin coombs in 10ml vial	VIA	47500

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Simat for Medical laboratory equipment	47500	1.45	68,875.00	Egychem/Biomed	Egypt		
2	OS00037	MARINA PHARMACEUTICALS	47500	2.96	140,600.00	FORTRESS DIAGNOS	United Kingdom		VIAL
3	OS00016	Elhussien Commercial AG. for Chemicals	11875	3.07	36,456.25	Arkray	India		See the attached cov letter fo
4	OS00041	terma medical suplies	47500	4.05	192,375.00	Diagast	France	60	
5	OS00280	RASD Pharma for Multi Activities	47500	11.20	532,000.00	Dialab	Austria	60	
6	OS00270	Ayatco Medical supply and services	47500	13.80	655,500.00	Biotech	United Kingdom		ISO13485

Run Date - Time : 04/09/2019 - 12:14:30 Page 29 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191041	Factor II deficient plasma	вох	60

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00007	Hippocrates Medical Enterprises	60	58.00	3,480.00	Siemens	Germany		
2		Samasu Medical and educational services	60	186.07	11,163.90	Diagnostica STAG	France		CE Mark, FDA
3		MARINA PHARMACEUTICALS	60	198.00	11,880.00	FORTRESS DIAGNOS	United Kingdom		KIT
4		RASD Pharma for Multi Activities	60	200.20	12,012.00	Dialab	Austria	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 30 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191042	Factor V deficient plasma	вох	60

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Samasu Medical and educational services	60	36.74	2,204.22	Diagnostica STAG	France		CE Mark, FDA
2	OS00007	Hippocrates Medical Enterprises	60	177.00	10,620.00	Siemens	Germany		
3		MARINA PHARMACEUTICALS	60	192.00	11,520.00	FORTRESS DIAGNOS	United Kingdom		KIT
4		RASD Pharma for Multi Activities	60	200.20	12,012.00	Dialab	Afghanista n	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 31 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191043	Factor VII deficient plasma	вох	60

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00007	Hippocrates Medical Enterprises	60	38.00	2,280.00	Siemens	Germany		
2		RASD Pharma for Multi Activities	60	140.20	8,412.00	Dialab	Austria	60	
3		MARINA PHARMACEUTICALS	60	185.00	11,100.00	FORTRESS DIAGNOS	United Kingdom		KIT
4		Samasu Medical and educational services	60	311.12	18,667.02	Diagnostica STAG	France		CE Mark, FDA

Run Date - Time : 04/09/2019 - 12:14:30 Page 32 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191044	Factor VIII deficient plasma	вох	375

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Hippocrates Medical Enterprises	375	38.00	14,250.00	Siemens	Germany		
2		RASD Pharma for Multi Activities	375	140.20	52,575.00	Dialab	Austria	60	
3		Samasu Medical and educational services	375	172.11	64,540.50	Diagnostica STAG	France		CE Mark, FDA
4		MARINA PHARMACEUTICALS	375	185.00	69,375.00	FORTRESS DIAGNOS	United Kingdom		KIT

Run Date - Time : 04/09/2019 - 12:14:30 Page 33 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191045	Factor IX deficient plasma	вох	250

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00007	Hippocrates Medical Enterprises	250	96.00	24,000.00	Siemens	Germany		
2		Samasu Medical and educational services	250	172.11	43,027.00	Diagnostica STAG	France		CE Mark, FDA
3		MARINA PHARMACEUTICALS	250	185.00	46,250.00	FORTRESS DIAGNOS	United Kingdom		KIT
4		RASD Pharma for Multi Activities	250	200.20	50,050.00	Dialab	Austria	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 34 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.	
1191046	Factor Xdeficient plasma	вох	60	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00007	Hippocrates Medical Enterprises	60	72.00	4,320.00	Siemens	Germany		
2		Samasu Medical and educational services	60	106.40	6,384.18	Diagnostica STAG	France		CE Mark, FDA
3		MARINA PHARMACEUTICALS	60	195.00	11,700.00	FORTRESS DIAGNOS	United Kingdom		KIT
4		RASD Pharma for Multi Activities	60	200.20	12,012.00	Dialab	Austria	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 35 of 83



#### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.	
1191047	Factor XI deficient plasma	вох	60	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00007	Hippocrates Medical Enterprises	60	74.00	4,440.00	Siemens	Germany		
2	00000.	MARINA PHARMACEUTICALS	60	195.00	11,700.00	FORTRESS DIAGNOS	United Kingdom		KIT
3		RASD Pharma for Multi Activities	60	200.20	12,012.00	Dialab	Austria	60	
4		Samasu Medical and educational services	60	407.34	24,440.22	Diagnostica STAG	France		CE Mark, FDA

Run Date - Time : 04/09/2019 - 12:14:30 Page 36 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	le Item Description		Required Qty.	
1191048	Factor XII deficient plasma	вох	60	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00007	Hippocrates Medical Enterprises	60	75.00	4,500.00	Siemens	Germany		
2	00000.	MARINA PHARMACEUTICALS	60	192.00	11,520.00	FORTRESS DIAGNOS	United Kingdom		KIT
3		RASD Pharma for Multi Activities	60	200.20	12,012.00	Dialab	Austria	60	
4		Samasu Medical and educational services	60	399.42	23,964.90	Diagnostica STAG	France		CE Mark, FDA

Run Date - Time : 04/09/2019 - 12:14:30 Page 37 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	em Code Item Description		Required Qty.
1191049	Worness buffer	VIA	13

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Samasu Medical and educational services	13	3.37	43.77	Diagnostica STAG	France		CE Mark, FDA
2		Hippocrates Medical Enterprises	13	53.00	689.00	Siemens	Germany		

Run Date - Time : 04/09/2019 - 12:14:30 Page 38 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Code Item Description		Required Qty.
1191050	Von Wilberand Antigen reagent	KIT	20

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Samasu Medical and educational services	20	596.70	11,934.00	Diagnostica STAG	France		CE Mark, FDA
2	OS00007	Hippocrates Medical Enterprises	20	1,299.00	25,980.00	Siemens	Germany		

Run Date - Time : 04/09/2019 - 12:14:30 Page 39 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
1191052	Reference plasma	вох	75

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		RASD Pharma for Multi Activities	75	24.00	1,800.00	Dialab	Austria	60	
2		Samasu Medical and educational services	75	119.37	8,952.60	Diagnostica STAG	France		CE Mark, FDA
3		Hippocrates Medical Enterprises	75	147.00	11,025.00	Siemens	Germany		

Run Date - Time : 04/09/2019 - 12:14:30 Page 40 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	em Code Item Description		Required Qty.
1191053	Thrombin reagent	вох	8

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		RASD Pharma for Multi Activities	7	12.00	84.00	Dialab	Austria	60	
2		Hippocrates Medical Enterprises	7	60.00	420.00	Siemens	Germany		
3		Samasu Medical and educational services	7	65.60	459.20	Diagnostica STAG	France		CE Mark, FDA

Run Date - Time : 04/09/2019 - 12:14:30 Page 41 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	de Item Description		Required Qty.	
1191056	Fibrinogen Reagent	KIT	8	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		RASD Pharma for Multi Activities	7	42.00	294.00	Dialab	Austria	60	
2		Hippocrates Medical Enterprises	7	58.00	406.00	Siemens	Germany		
3		Samasu Medical and educational services	7	410.91	2,876.35	Diagnostica STAG	France		CE Mark, FDA

Run Date - Time : 04/09/2019 - 12:14:30 Page 42 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code Item Description		UOM	Required Qty.
1191065	Factor XIII (Fibrogammin 250IU)	AMP	500

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Dew international company for investment	500	160.15	80,075.00	CSL Behring GmbH	Germany		

Run Date - Time : 04/09/2019 - 12:14:30 Page 43 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
2094102	Blood Bags single 450ml with set	BAG	500000

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00028	Lillioum Medical Service	500000	1.10	550,000.00	Poly Medicure LT	India	120	
2	OS00386	Medral commercial enterprises	500000	1.71	855,000.00	(JMS)	Singapore	90	
3	OS00386	Medral commercial enterprises	500000	1.80	900,000.00	(JMS) Japan Medi	Singapore	90	
4		Medral commercial enterprises	500000	1.99	995,000.00	JMS	Singapore	90	
5	OS00280	RASD Pharma for Multi Activities	500000	2.05	1,025,000.00	Macopharma	France	85	
6	OS00064	NORY MEDICAL DEVICES	500000	2.36	1,180,000.00	Fresenius	Germany	120	
7	OS00064	NORY MEDICAL DEVICES	500000	2.50	1,250,000.00	Fresenius Kabi	Germany	120	
8	OS00037	MARINA PHARMACEUTICALS	500000	3.25	1,625,000.00	FORTRESS DIAGNOS	United Kingdom		10BAG
9	OS00034	EANA Medical Services and Investment Co.	500000	3.27	1,635,000.00	TERUMO BCT	United Kingdom		

Run Date - Time : 04/09/2019 - 12:14:30 Page 44 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
2094402	Blood Bags triple( CPDA-1) 450ml with set	BAG	450000

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Medral commercial enterprises	450000	3.39	1,525,500.00	(JMS)	Singapore	90	
2		Medral commercial enterprises	450000	3.45	1,552,500.00	(JMS) Japan Medi	Singapore	90	
3	OS00028	Lillioum Medical Service	450000	3.65	1,642,500.00	Poly Medicure Lt	India	120	
4		RASD Pharma for Multi Activities	450000	3.77	1,696,500.00	Macopharma	France	85	
5		Medral commercial enterprises	450000	3.98	1,791,000.00	JMS	Singapore	90	
6		Medral commercial enterprises	23454	4.40	103,197.60	jms	Afghanista n	45	
7		MARINA PHARMACEUTICALS	450000	4.65	2,092,500.00	FORTRESS DIAGNOS	United Kingdom		10BAG
8	OS00064	NORY MEDICAL DEVICES	450000	4.67	2,101,500.00	Fresenius	Germany	120	
9		EANA Medical Services and Investment Co.	450000	4.73	2,128,500.00	TERUMO BCT	United Kingdom		
10	OS00064	NORY MEDICAL DEVICES	450000	4.89	2,200,500.00	Fresenius Kabi	Germany	120	

Run Date - Time : 04/09/2019 - 12:14:30 Page 45 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
2094403	Blood Bags triple( CPDA-1) 450ml with set with filter	BAG	50000

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00037	MARINA PHARMACEUTICALS	50000	5.16	258,000.00	FORTRESS DIAGNOS	United Kingdom		10 BAG
2	OS00034	EANA Medical Services and Investment Co.	50000	9.50	475,000.00	TERUMO BCT	India		THIS OFFER FOR QUADRUPLE BAG W
3	OS00280	RASD Pharma for Multi Activities	50000	9.80	490,000.00	Macopharma	France	85	
4	OS00064	NORY MEDICAL DEVICES	50000	10.04	502,000.00	Fresenius Kabi	Germany	120	
5	OS00028	Lillioum Medical Service	50000	11.34	567,000.00	Polymedicure Ltd	India	120	
6		Medral commercial enterprises	50000	14.59	729,500.00	(JMS)	Singapore	90	
7		Medral commercial enterprises	50000	14.80	740,000.00	(JMS) Japan Medi	Singapore	90	
8	OS00386	Medral commercial enterprises	50000	17.13	856,500.00	JMS	Singapore	90	

Run Date - Time : 04/09/2019 - 12:14:30 Page 46 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code Item Description		UOM	Required Qty.
2094501	Blood Bags Quadrable 450 ml with transfusion set	BAG	33750

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00386	Medral commercial enterprises	33750	4.20	141,750.00	(JMS)	Singapore	90	
2	OS00386	Medral commercial enterprises	33750	4.33	146,137.50	(JMS) Japan Medi	Singapore	90	
3		Medral commercial enterprises	33750	4.94	166,725.00	JMS	Singapore	90	
4	OS00028	Lillioum Medical Service	33750	5.10	172,125.00	Poly Medicure Lt	India	90	
5	OS00280	RASD Pharma for Multi Activities	33750	5.46	184,275.00	Macopharma	France	85	
6	OS00064	NORY MEDICAL DEVICES	33750	6.01	202,837.50	Fresenius Kabi	Germany	120	
7	OS00034	EANA Medical Services and Investment Co.	33750	6.50	219,375.00	TERUMO BCT	India		
8	OS00037	MARINA PHARMACEUTICALS	33750	9.34	315,225.00	FORTRESS DIAGNOS	United Kingdom		10BAG

Run Date - Time : 04/09/2019 - 12:14:30 Page 47 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item 0	Item Code Item Description		UOM	Required Qty.
2094502		l Bags Quadrable ( A-1) 450ml with set with	BAG	3750

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00034	EANA Medical Services and Investment Co.	3750	9.50	35,625.00	TERUMO BCT	India		
2	OS00280	RASD Pharma for Multi Activities	3750	9.80	36,750.00	Macopharma	France	85	
3	OS00064	NORY MEDICAL DEVICES	3750	10.00	37,500.00	Fresenius Kabi	Germany	120	
4	OS00037	MARINA PHARMACEUTICALS	3750	10.15	38,062.50	FORTRESS DIAGNOS	United Kingdom		10 BAG
5	OS00028	Lillioum Medical Service	3750	12.69	47,587.50	POLYmedicure Ltd	India	120	
6		Medral commercial enterprises	3750	14.59	54,712.50	(JMS)	Singapore	90	
7		Medral commercial enterprises	3750	14.80	55,500.00	(JMS) Japan Medi	Singapore	90	
8		Medral commercial enterprises	3750	17.13	64,237.50	JMS	Singapore	90	

Run Date - Time : 04/09/2019 - 12:14:30 Page 48 of 83



### **National Medical Supplies Fund**



### NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
2094601	Blood Bag Penta 450ml Anticoagulant, CPDA with	BAG	12500

set

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00064	NORY MEDICAL DEVICES	12500	5.32	66,500.00	Fresenius Kabi	Germany	120	
2		MARINA PHARMACEUTICALS	12500	12.60	157,500.00	FORTRESS DIAGNOS	United Kingdom		10 BAG
3		RASD Pharma for Multi Activities	12500	14.00	175,000.00	Macopharma	France	85	

Run Date - Time : 04/09/2019 - 12:14:30 Page 49 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.	
2162101	Blood transfusion set with needle and filter	PCS	1250000	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00007	Hippocrates Medical Enterprises	1250000	0.19	237,500.00	PlastiLab	Lebanon		
2	OS00280	RASD Pharma for Multi Activities	1250000	0.21	262,500.00	WEBEST	China	85	
3	OS00034	EANA Medical Services and Investment Co.	1250000	0.23	287,500.00	BIOMED	India		
4	OS00028	Lillioum Medical Service	1250000	0.32	400,000.00	POLY MEDICURE	India	120	
5	OS00028	Lillioum Medical Service	1250000	0.33	412,500.00	Ultra Medicl co	Egypt	90	
6	OS00270	Ayatco Medical supply and services	1250000	0.35	437,500.00	Rays	Italy		CE Certificate
7	OS00387	smmp drugs. cosmetics and medical equipmer	1250000	0.38	475,000.00	SAUDI MAIS	Saudi Arabia		60 DAYS THE FIRST SHIPMENT
8	OS00037	MARINA PHARMACEUTICALS	1250000	0.45	562,500.00	FORTRESS DIAGNOS	United Kingdom		10 BAG
9	OS00386	Medral commercial enterprises	1250000	0.55	687,500.00	(JMS)	Singapore	90	
10	OS00386	Medral commercial enterprises	1250000	0.57	712,500.00	(JMS) Japan Medi	Singapore	90	
11	OS00386	Medral commercial enterprises	1250000	0.65	812,500.00	JMS	Singapore	90	
12	OS00064	NORY MEDICAL DEVICES	1250000	0.79	987,500.00	Fresenius Kabi	United States	120	

Run Date - Time : 04/09/2019 - 12:14:30 Page 50 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.		
3060138	Torniquete Rubber -Adult	PCS	12500		

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	12500	0.38	4,750.00	GREETMED	China		24 BOX
2		Hippocrates Medical Enterprises	12500	0.91	11,375.00	PlastiLab	Lebanon	_	

Run Date - Time : 04/09/2019 - 12:14:30 Page 51 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	ode Item Description		Required Qty.	
3060531	Vacutainer gel coated tube 5ml	PCS	3090000	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	3090000	0.05	148,320.00	GREETMED	China		1200/ BOX
2	OS00041	terma medical suplies	3090000	0.05	160,680.00	Greiner Bio One	Thailand	30	
3		Hippocrates Medical Enterprises	3090000	0.06	197,760.00	PlastiLab	Lebanon		
4	OS00390	Innovation scientific Co.Ltd	3090000	0.09	287,370.00	BD	United Kingdom	60	
5		Ayatco Medical supply and services	3090000	0.10	302,820.00	F.L.Medical	Italy		ISO13485,ISO9001
6	OS00028	Lillioum Medical Service	3090000	0.11	339,900.00	POLY MEDICURE L	India	120	

Run Date - Time : 04/09/2019 - 12:14:30 Page 52 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
3068004	Restocetin cofactor assay kit	KIT	13

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		Hippocrates Medical Enterprises	13	786.00	10,218.00	Siemens	Germany		

Run Date - Time : 04/09/2019 - 12:14:30 Page 53 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
3068005	Factor VIII chromogenic kit	KIT	5

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	5	195.00	975.00	FORTRESS DIAGNOS	United Kingdom		KIT
2	OS00007	Hippocrates Medical Enterprises	5	323.00	1,615.00	Siemens	Germany		
3		Samasu Medical and educational services	5	1,219.85	6,099.26	Diagnostica STAG	France		CE Mark, FDA

Run Date - Time : 04/09/2019 - 12:14:30 Page 54 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	le Item Description		Required Qty.	
3068006	Factor XIII Quantitative kit	KIT	5	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	5	195.00	975.00	FORTRESS DIAGNOS	United Kingdom		KIT
2	OS00007	Hippocrates Medical Enterprises	5	703.00	3,515.00	Siemens	Germany		

Run Date - Time : 04/09/2019 - 12:14:30 Page 55 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.	
3068009	Anti D (IgG only) 10ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	4.20	210.00	FORTRESS DIAGNOS	United Kingdom		VIAL

Run Date - Time : 04/09/2019 - 12:14:30 Page 56 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	m Code Item Description		Required Qty.	
3068011	Anti-Kp(a) 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	39.00	1,950.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	68.85	3,442.50	Diagast	France	30	

Run Date - Time : 04/09/2019 - 12:14:30 Page 57 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	de Item Description		Required Qty.	
3068012	Anti-Thrombin III assay kit	KIT	8	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	7	20.00	140.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00007	Hippocrates Medical Enterprises	7	235.00	1,645.00	Siemens	Germany		
3		Samasu Medical and educational services	7	384.06	2,688.45	Diagnostica STAG	France		CE Mark, FDA

Run Date - Time : 04/09/2019 - 12:14:30 Page 58 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	tem Code Item Description		Required Qty.	
3068013	Protein C assay kit	KIT	8	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	7	77.00	539.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00007	Hippocrates Medical Enterprises	7	390.00	2,730.00	Siemens	Germany		
3		Samasu Medical and educational services	7	567.80	3,974.60	Diagnostica STAG	France		CE Mark, FDA
4		RASD Pharma for Multi Activities	7	591.00	4,137.00	Dialab	Austria	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 59 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.	
3068014	Protein S assay kit	KIT	8	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	7	86.00	602.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00007	Hippocrates Medical Enterprises	7	196.00	1,372.00	Siemens	Germany		
3		Samasu Medical and educational services	7	388.20	2,717.37	Diagnostica STAG	France		CE Mark, FDA
4		RASD Pharma for Multi Activities	7	425.50	2,978.50	Dialab	Austria	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 60 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description		Required Qty.
3068015	Activated protein C resistant assay kit	KIT	8

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	7	122.00	854.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2		Hippocrates Medical Enterprises	7	539.00	3,773.00	Siemes	Germany		
3		Samasu Medical and educational services	7	703.99	4,927.91	Diagnostica STAG	France		CE Mark, FDA

Run Date - Time : 04/09/2019 - 12:14:30 Page 61 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	de Item Description		Required Qty.	
3068016	Anti-C(W) test 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	38.00	1,900.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	91.80	4,590.00	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	128.10	6,405.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 62 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
3068017	Anti-K big test 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00041	terma medical suplies	50	24.30	1,215.00	Diagast	France	30	
2		RASD Pharma for Multi Activities	50	38.00	1,900.00	Day Medical	Switzerlan d	60	
3		MARINA PHARMACEUTICALS	50	39.00	1,950.00	FORTRESS DIAGNOS	United Kingdom		VIAL

Run Date - Time : 04/09/2019 - 12:14:30 Page 63 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.	
3068018	Anti-k small 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	31.00	1,550.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	71.55	3,577.50	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	144.20	7,210.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 64 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
3068019	Anti-Kp(b) test 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	37.00	1,850.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	55.35	2,767.50	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	111.20	5,560.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 65 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
3068020	Anti-JS(a) test 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	36.00	1,800.00	FORTRESS DIAGNOS	United Kingdom		VIAL

Run Date - Time : 04/09/2019 - 12:14:30 Page 66 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
3068021	Anti-JS(b) test 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	36.00	1,800.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2		RASD Pharma for Multi Activities	50	386.00	19,300.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 67 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
3068022	Anti-FYa test 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	29.00	1,450.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	55.35	2,767.50	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	89.00	4,450.00	Day medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 68 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Code Item Description		Required Qty.
3068023	Anti-FYb test 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	29.00	1,450.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2		RASD Pharma for Multi Activities	50	123.20	6,160.00	Day Medical	Switzerlan d	60	
3	OS00041	terma medical suplies	50	128.28	6,414.00	Diagast	France	30	

Run Date - Time : 04/09/2019 - 12:14:30 Page 69 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.	
3068024	Anti Kidd jka test 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00041	terma medical suplies	50	37.80	1,890.00	Diagast	France	30	
2		MARINA PHARMACEUTICALS	50	47.00	2,350.00	FORTRESS DIAGNOS	United Kingdom		VIAL
3		RASD Pharma for Multi Activities	50	117.60	5,880.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 70 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
3068025	Anti Kidd jkb test 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00041	terma medical suplies	50	36.45	1,822.50	Diagast	France	30	
2		MARINA PHARMACEUTICALS	50	47.00	2,350.00	FORTRESS DIAGNOS	United Kingdom		VIAL
3		RASD Pharma for Multi Activities	50	199.00	9,950.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 71 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	ode Item Description		Required Qty.	
3068026	Anti Lewis Lea test 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	25.00	1,250.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	55.35	2,767.50	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	105.00	5,250.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 72 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	e Item Description		Required Qty.	
3068027	Anti Lewis Leb test 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	25.00	1,250.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	110.70	5,535.00	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	117.60	5,880.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 73 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Code Item Description		Required Qty.	
3068028	Anti-P1 test 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	21.00	1,050.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	66.15	3,307.50	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	89.00	4,450.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 74 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.	
3068029	Anti-M test 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	15.00	750.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	35.10	1,755.00	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	77.20	3,860.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 75 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.	
3068030	Anti-N test 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	15.00	750.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	35.10	1,755.00	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	75.90	3,795.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 76 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	e Item Description		Required Qty.	
3068031	Anti-S big test 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	28.50	1,425.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	52.65	2,632.50	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	135.50	6,775.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 77 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.	
3068032	Anti-s small test 5ml	VIA	50	

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	23.00	1,150.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2	OS00041	terma medical suplies	50	55.35	2,767.50	Diagast	France	30	
3		RASD Pharma for Multi Activities	50	150.40	7,520.00	Day Medical	Switzerlan d	60	

Run Date - Time : 04/09/2019 - 12:14:30 Page 78 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
3068033	Anti-Lu (a) test 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	110.00	5,500.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2		RASD Pharma for Multi Activities	50	111.20	5,560.00	Day Medical	Switzerlan d	60	
3	OS00041	terma medical suplies	50	171.45	8,572.50	Diagast	France	30	

Run Date - Time : 04/09/2019 - 12:14:30 Page 79 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
3068034	Anti-Lu (b) test 5ml	VIA	50

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		MARINA PHARMACEUTICALS	50	110.00	5,500.00	FORTRESS DIAGNOS	United Kingdom		VIAL
2		RASD Pharma for Multi Activities	50	111.20	5,560.00	Day Medical	Switzerlan d	60	
3	OS00041	terma medical suplies	50	155.25	7,762.50	Diagast	France	30	

Run Date - Time : 04/09/2019 - 12:14:30 Page 80 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.		
3068035	Anti-Xg (a) test 5ml	VIA	50		

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		RASD Pharma for Multi Activities	50	58.80	2,940.00	Day Medical	Switzerlan d	60	
2		MARINA PHARMACEUTICALS	50	110.00	5,500.00	FORTRESS DIAGNOS	United Kingdom		VIAL

Run Date - Time : 04/09/2019 - 12:14:30 Page 81 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
4060034	Set for automated collection system	SET	7500

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1		EANA Medical Services and Investment Co.	7500	185.00	1,387,500.00	TERUMO BCT	Vietnam		

Run Date - Time : 04/09/2019 - 12:14:30 Page 82 of 83



### **National Medical Supplies Fund**



## NMSF tender offers details

Tender No: TNDRE/004/2019

Item Code	Item Description	UOM	Required Qty.
4060035	Anticoagulant Citrate Dextrose Solution	SET	7500

Srl.	Company code	Company Description	Offered Qty	Offered Price	Total Amount	Manufacturer	Country of Origin	Delivery Time(Days)	Remarks
1	OS00064	NORY MEDICAL DEVICES	7500	7.19	53,925.00	Fresenius Kabi	Germany	120	
2		EANA Medical Services and Investment Co.	7500	20.00	150,000.00	TERUMO BCT	United States		

Run Date - Time : 04/09/2019 - 12:14:30 Page 83 of 83